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Total Question : 40

Q.No. 1

‘A geothermmal energy plant has been commussioned at which of the tollowmg places”
(A)
Olkchla in Delhi
(B)
Tarapwr 1n Maharashtra

(C)
Manikaran m Himachal Pradesh

(D)
Narora mn Uttar Pradesh

Q.No. 2

Which view of development assumes development to be remedy of all social 1ills includmg human
development & regional imbalances”

(A) American view of development

(B) Westem view of development

(C) Indian view ot development

(D) Malthusian view ot development

Q.No. 3

Duning colomal period nugrants were taken to the Mauntius, Canbbean 1slands under which act”?
(A) Population Act

(B) Labour Act

(C) Gomut Act

(D) Migration Act

Q.No. 4

Who spelt out the quality ot life and treedom ot opportunities?

(A) Amartya Sen
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(B) Mahboob-ul-Haq
(C)Both ‘1" and ‘2’
(D) Raghwram Rajan

Q.No. S

Industry producing raw materials tor other industiies 1s known by which ot the tollowmg?”
(A)

Basic indushy

(B)

Small scale industiy

(C)
Cottage industry

(D)
Food processmng industiy

Q.No. 6

Activities that involve research and development are kmown as
(A) Secondary activities
(B) Quinary actities

(C) Pnmary actvities

(D) Quatermary activities

Q.No. 7

‘Which state has the highest % 1ural population”?
(4A) Uttar Pradesh

(B) Humachal Pradesh

(C) Bihar

(D) Jammu& Kashmir

Q.No. 8

Out of the given options choose the most appropriate one to detine “Density ot Population?
(A)
Number of lve buths in a year per thousand of population

(B)

Change in number ot persons of a tamtory dunng a specific perod of tume



(C)

Ratio between the number of women and men in the population
(D)

Number of persons lving in per square kim ot an area
Q.No.9

Which one of the tollowing 1s the length ot Panama Canal”
(A)

160 Kim

(B)

/2 Km

(C)

117 Km

(D)

195 Km

Q.No. 10

‘What are the causes of Migration”?

(A) Poveity

(B) Health

(C) Drought

(D) All of these

Q.No. 11

Which of the following best descibes the qumary sector?

(A) It 15 goods- based

(B) It 1s information -based

(C) It 1s domestic service based

(D) 1t 1s tmance based

Q.No. 12

‘Neeru — Meeru’ a watershed development and management programme 1s associated with which ot the
tollowmng?”

(A)
Rajasthan



(B)

Andhra Pradesh
(C)

Tamil Nadu

(D)

Haryana

Q.No. 13

‘Who among the tollowing 1s the author ot * The Population Bomb””?
(A)

Peterr Hagget

(B)

Ehrlich

()

AN Strahler

(D)

Thomas Malthus

Q.No. 14

In which ot the tollowing period negative growth rate ot population was recorded m India”
(A)

1201-1211

(B)

1011 — 1921

(C)

1951 — 1961

(D)

1971 —1981

Q.No. 15

The density of population 1susually measwred m-

(A) Persons/am area

(B) Persons/sq kim area

(C) Persons/cubic area



(D) All theabove

Q.No. 16

Dunng thirrd wave of nugration, the migrants was comprised mamtly
(&) Plantation workers

(B) Factory workers

(C) Traders

(D) Protessionals

Q.No. 17

In Indonesia and Malaysia, shitting cultivation 1s kmown by which of the tollowing names”

(A)

Thunung
(B)
Milpa
(C)
Ladang
(D)

Viticulture

Q.No. 18

Study the graph given below and answer
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‘Which component 1sresponsible for minmmum female nugration ?

(A) Business
(B) Education

(C) Work and employment

(D) Mamage




Q.No. 19

Females have a biological advantage over males as they tend to be more resilient than males, which mean
that

(A) To adapt trom acute stress
(B) Cope-up trom adversity
(C) Able to tace traumas

(D) All
Q.No. 20

State has highest percentage of population in urban area”
(A) Goa
(B) Maharashtra

(C) Kamataka

(D) Punjab

Q.No. 21

In which ot the tollowing countnes, Rulu mdushial region 1s located”
(A)

France

(B)

Spam

(C)

Genmany

(D)

England

Q.No. 22

Which of the tollowing 1s the main source ot hunan created water pollution”?
(A) Industries

(B) Domestic waste

(C) Agriculture

(D) Cultural actvities

Q.No. 23

Name the telecommunication savice, which 1snot considered as “Nass NMedia” ?



(A)
Mobile phone
(B)

R adio

(D)

Newspaper

Q.No. 24

Which 1s the best quality of Iron ore ?

(A) Bituminus

(B) Hematite

(C) Magnatite

(D) Lignite

Q.No. 25

‘Which of the tollowing diseases 1s not associated with an pollution?
(A) Hepatitis

(B) Respiratory disease

(C) Newvous system

(D) circulatory system

Q.No. 26

Which one of the tollowing 1s a tertiary activity?

(A) Fammy

(B) Trading

(C) Weaving

(D) Huntng

Q.No. 27

The Swachh Bharat Mission (SBM) launched by the Govemment ot India 1s a part of -
(A)

Rural renewal mission

(B)



Rural souchalaya mission

(C)

Urban renewal mission

(D)

Urban souchalaya mission

Q.No. 28

Drought Prone Area Programme was mitiated durmyg which five year plan m India®
(A)

Fourth

(B)

Second

(C)

(D)
Fitth

Q.No. 29

Which ot the tollowing 1s the longest highway 1n India”
(A)

NH-1

(B)

NH-7

Q.No. 30

Which Factor 1s responsible tor high density of population tound 1n Katanga Zambia located in Africa”
(A) Availability of mneral wealth (copper)

(B) Availability of good torest resowuces

(C) Socio-economic backw ardness

(D) Secunty of lite



Q.No. 31

‘Nomothetic’ refers

(A) Law making

(B) Theonsing

(C) Both

(D) None of these

Q.No. 32

Which one of the tollowing activities 1s NOT a secondary sector activity”

(A) Iron Smelting
(B) Making Garment
(C) Catching tish
(D) Basket Weaving

Q.No. 33

In Inter-state migration, which gender has the highest rate ot mugration and n which direction”
(A) Male from 1nural to Urban

(B) Female from Urban to rural

(C) Male trom Urban to Urban

(D) Female trom Rural to Rural

Q.No. 34

‘Which of the tollowing 1s not a water borne disease”
(&) Diairhoea

(B) Viral fever

(C) Intestnal worms

(D) Hepatitis

Q.No. 35

“Famuly planming, Gurls education gets dittused from wban torural areas” 1s an example of which type ot
consequences of migration”

(A) Social consequernces

(B) Demographic consequences

(C) Economic consequences

(D) Environmental consequences



Q.No. 36

The Big Trunk Route runs through which ot the tollowing”

(A)

The No1th Atlantic Ocean

(B)

The Mediterranean — Indian Ocean
(C)

The South Atlantic Ocean

(D)

The South Pacitic Ocean

Q.No. 37

'What are the inter related processes ot declining capabilities”

(A) Social capabilities

(B) Environment capabilities

(C) Personal capabilities

(D) All of the above

Q.No. 38

‘What are the oldest economic actvities”

(A) Gathermg and hunting
(B) Lve stock rearmng

(C) Sevice

(D) none of these

Q.No. 39

Since which year radio broadcasting started in India tor the turst tume®

(A)



1925

- b -

Q.No. 40

State having lowest sex ratio 1 India-
(A) Pumab

(B) Bihar

(C) Haryana

(D) Chhattisgah

Answer Sheet
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